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Part A: Vocabulary and Grammar
Directions: Questions 76-87 are incomplete sentences. Beneath each sentence you will

see four words or phrases, marked (1), (2), (3), and (4). Choose the one word or phrase
that best completes the sentence. Then mark your answer sheet.

78-

79-

80-

84-

85-

86-

87-

88-
89-
90-
91-
92-

As the movie went on, it became more and more ---------- .

1) bored 2) boring 3) boredom 4) boringly

I was surprised that she left without ----------- good-bye to anyone.

1) say 2) to say 3) saying 4) being said

| a game of tennis with Mike when Sue ----------- .

1) had finished / arrived 2) finished / had arrived

3) have finished / arrived 4) finished / has arrived

My bag had disappeared. It ----------- stolen by someone.

1) should be 2) must be 3) should have been  4) must have been

He was kept in hospital for ----------- so that doctors could see if anything was wrong with him.
1) observation 2) instruction 3) procedure 4) connection

I felt so much pain that I had to ----------- the doctor in the middle of the night.

1) fit for 2) call out 3) put off 4) look after

I'm sorry to ----------- you so late, but my car is out of order and i was wondering if I could use
your car.

1) ignore 2) devote 3) disturb 4) speculate

He -----=----- his belief that the system should be allowed sufficient time to work.

1) restated 2) prevented 3) distracted 4) provided

You must ask ------------- before taking any photographs from inside the church.

1) overpass 2) posture 3) instatice 4) permission

Schools should ------------ more time to those scientific subjects which are more useful in the
job market.

1) link 2) devote 3) involve 4) express

Machines can now perform many --------- tasks in the home.

1) irrelevant 2) surrounding 3) anxious 4) repetitive

Her own twelve pictures sold fairly well, ----------- to friends and family.

1) recently 2) formally 3) mostly 4) reasonably

Part B: Cloze Test
Directions: Questions 88-92 are related to the following passage. Read the passage and

decide which choice (1), (2), (3), or (4) best fits each space. Then mark your answer
sheet.

In 1796, Napoleon Bonaparte made Milan the capital of his Cisalpine Republic and in 1805 he
became King of Italy in the Cathedral. The Austrians (88) ---------- after Napoleon's defeat in 1814,
but the Milanese had tasted (89) ------------ and Milan became the centre of struggle to
90) ---mmmmmme- rule. At last in 1859, after the Battle of Magenta, the city welcomed Victor
Emmanuel, the first king of united Italy. (91) ----------- Benito Mussolini (92) ----------- his Fascist
party in Milan in 1919, the city became a centre of power to Fascism and to German occupation in
World War IL

1) locked up 2) gave back 3) drove on 4) came back
1) balance 2) freedom 3) pressure 4) cleanliness
1) foreign 2) global 3) harmful 4) urban

1) Whereas 2) Whether 3) Although 4) Because

1) created 2) informed 3) recorded 4) instructed
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Part C: Reading Comprehension
Directions: In this part of the test, you will read two passages. Each passage is followed

by four questions. Answer the questions by choosing the best choice (1), (2), (3), or (4).
Then mark your answer sheet.

94-

95-

PASSAGEL1:

Sociology is the study of different aspects of society and its members. A sociologist is a person
who undertakes this study. Sociologists are interested in how social groups are organized, in the
relationship between different groups in society, and in how people behave as members of society.
They are also interested in social problems and in seeking solutions to those problems. Social
groups studied by sociologists may be small and compact, such as the family, or large and spread
out, such as a political organization or a trade union.

Most sociologists collect information and try to explain facts about their own society. But
sociologists also study societies other than their own. In order to gather information, they rely on
official maths (such as census data); they interview people who may be experts on the problem
being investigated in the case of drug addiction, for instance, the police or psychologists; and they
interview individuals such as drug addicts, criminals, the elderly, and so on. They do not interview
every person in the group being studied, but rather they take a sample representative, or typical, of
the group. Sociologists also gather information by observing what is happening around them. They
may work together with other sociologists, as well as with other specialists in the field: for example,
demographers (population specialists), economists, statisticians, and psychologists.

According to the reading, sociologists are interested in all of the following except -------- .
1) how social groups are formed

2) social development of people in a society

3) how people behave as members of a particular society

4) social problems and possible solutions to those problems

According to the reading, which of the following is NOT true about sociologists?

1) Majority of them focus on their own society.

2) They rely on statistics published by the government.

3) They are interested in societies which are different form their own society.

4) They sometimes collect information from drug sellers.

According to the passage, sociologists collect information by all of the following ways
EXCEPT ---------- .

1) interviewing the police and victims

2) working with population experts

3) talking with experts in other fields

4) interviewing all the people who are being studied

Which of the following groups may not work together with other sociologists?

1) psychologists 2) economists 3) physiologists 4) statisticians



97-

98-

99-

100-
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PASSAGE 2:

The exact centre of Europe is not one of Europe's great cities such as Paris or Milan. It is a very
different sort of place. The arrival of several new states in EU, which this time included Sweden,
Finland, and Austria, means that the exact centre of Europe has moved yet again. The place which
now holds this honour is the quiet Belgian district of Viroinval. Viroinval, which is located between
Paris and Brussels, is a country area that contains a group of eight villages.

The geographical centre has moved 423 kilometres north from the French town of
Saint-Clement, where it lay in the years after the last great expansion of the community. "It's like
winning the big prize without knowing you have bought a ticket," says Jean-Marc Delizee, who
represents the area in Parliament. Delizee, whose other job is to run the local tourist association,
goes on. "It has been a real gift. This is a region that has lost all its industry and whose people have
to go to far-away towns to get jobs. But it is a beautiful area — an area where tourism has a real
chance to bring new economic life."

Chrisstophe Dutailly, who runs a local restaurant, agrees but says, "We’ve got to act now." The
new states that will join the EU will move the geographical centre again and our moment of fame
will be gone."

According to the passage, the new centre of Europe is now ---------<-- .

1) in the border of Europe 2) the great city of Paris

3) a European big city 4) the Belgian district of Viroinval
We understand from the passage that the centre of EU -----=------ .

1) is a very different place 2) used to be a developed region
3) is not likely to move again 4) has not changed yet

Which sentence is NOT correct according to the passage?
1) Saint-Clement is a town located in France.

2) Viroinval is a rural beautiful area.

3) Viroinval is 423 kilometres far from France.

4) Delizee is a representative of the Parliament of Viroinval.
The writer states that the centre of EU changed ----------- .
1) after a few countries joined the EU

2) when Delizee offered a new plan to the EU

3) to accept Belgium as a member of the EU

4) in order to bring a new economic life to a European country





